Egzamin z algebry
| rok Budownictwa

(sem. zimowy 2011/2012)

20.01.2012

salaV R 18%-21%

Nrilmie Nazwisko zal |gr] 1| 2| 3] 4] 5|6 7] 8] 9 premig > [ocena
1 dbolb {2]0|1[6]|]5[5]|]6]5(4 3 | 37| db+
2 dbfa |2 3]2]|1f2|4]2]2]2 3 | 22| dst
3 dbolb 4] 6| 4]4])]4|[5]2]0(5 3 [ 37| db+
4 dbjc [ 5] 6|1]|]2]2|[5]2]3[4 3 | 33] db
5 dolb {1]2]|3[]2]3[5]1]1f5 3 | 26 | dst+
6 dbfc [2]1]1]0f21[4]1]1]4 3 | 18] dst
7 dbola {1]0|3[3]2|[5]1]2{3 3 | 23] dst
8 dbfb|2]J]0]J2]0f2]4]1]1]1 3 | 16 | dst
9 db[b |]O]JO]JO|6[2]|]4]1]0]2 3 | 18] dst
10 db[b O] 4]1]0[3[4]1]1]4 3 | 21| dst
11 dbolb {2]2]2[6]4]5[]0]3][?2 3 | 29| dst+
12 RIbfl1]2]2f[0]4]4[0]0]1 0 | 14 | ndst
13 Rljc[o]Jo]Jofo]J2]5[2]0]1 0 [ 10 | ndst
14 Rljc|[2]J]o]J]ofo]4]4]2]0]f3 0 | 15| ndst
15 Rla|1]2]|]2f1]1]2]0[2]0O0 0 | 11| ndst
16 dsttfa [ 2| 3| 1] 2[5[4]6]| 3] 4 2 |1 32] db
17 dsttfc [ 3| 3| 2] 2[4[4]3]|]0] 4 2 | 27 | dst+
18 dst+la | 4| 3| 2] 2| 6[4]2]0]1 2 | 26 | dst+
19 dst+fc [ 3] 0] 1] 3[4[4]1]1] 4 2 | 23] dst
20 dst+fa [ 5| 5| 2] 2[1[4]0] 1] 3 2 | 25| dst+
21 dstt+la | 3| 3[4]3| 6[5]0]1]2 2 | 29 | dst+
22 dst+fc [ 2| 5|1 3] 3[4[4]1]1]6 2 [31] db
23 dst+fb [ 5] 0] 2] 1[1[4]3]|]2]5 2 | 25| dst+
24 dst+fc O] 1] 1]5[3[5]1]0]3 2 | 21| dst
25 dst+fb O] O] 5] 2[2[4]0]2]5 2 |22 ] dst
26 dst+lb [ 1| 5[4]J0]1f[5]1]0]2 2 | 21| dst
27 dst+lb [ 3| 6[3]2]6[3]0]1]1 2 | 27| dst+
28 dst+fp O] 2] 1]3[4[5]0]0]1 2 | 18] dst
29 dst+fa [ O] 3] 2]0[1[5]1]0]0 2 | 14 | ndst
30 dst+fa [ O]l 4| 2] 5[1[2]0]0]1 2 | 17| dst
31 dst+|c | 4| 6[2]1]2[4]3]0]2 2 | 26 | dst+
32 dst+fc [ 3] 1] 1]0[21[3]2]0]S3 2 |16 | dst
33 dst+fb [ O] 3| 1] 2[5[2]2]|]0]4 2 [ 21] dst
34 Rla|1]1]1[3]2]2]0[2]3 0 [ 15| ndst
35 RIb|l]2]3|]22]J]0]4]0f[1]1 0 [ 15| ndst
36 RIb|J]1]5|1[0o]6]|]4]0f[2]2 0 | 21| dst
37 RJjc[3]0]J]Oof2]3|]6[]0]0[S5 0 [19] dst
38 RIb]J]ojJoOoJ]Oofo]2]4]0[O0f0O 0 6 | ndst
39 dstlc J]1]J]o0fo]/]1[3]J]0f[0]O 1 6 | ndst
40 Rljc[o]Jo]Jofo]J1]|]2]0]O0f4 0 7 | ndst
41 dstla |4 3[0]2]|3[4]1]0]2 1 | 20| dst
42 dstlc |]O]J4f1]2]0[4])]0[O0] 4 1 [16] dst
43 dstlb ] 2] 0f[3]3]4[{4]0]0]1 1 [ 18] dst
44 dst|lb J]O] 3[3]0|3[5]1[1]3 1 [20] dst
45 dstjc [2[21]1]2]0f[4f[21]0]1 1 | 13 ] ndst
46 dstjfa [ 2[1]1]J0]JO0f[5[0]2]1 1 | 13 ] ndst
47 dstlc | 2| 5f1]Jo0]2f2]1]0]2 1 [16] dst
48 dstlb J]O]JOf2]0]5[5]2|1]1 1 [ 17 ] dst
49 dst+{ Of 4] 0| 1] 5[{6[5]0]0]2 2 | 25| dst+
50 dstla J]O]J]OfO]JO|]1[4])J0[O0]O 1 6 | ndst




51 dst |b ojl1]j]o0|1|4|2]|1] 4 1 14 | ndst
52 dst |a 3112|320 1] 4 1 17 | dst
53 dst |b 3(1]5]1(3[0]0]1 1 15 | ndst
54 dst |a 211121 3[4|0]0]1 1 14 | ndst
55 dst |c 211|564 ]0]|]O0]| 2 1 23 | dst
56 dst |c 41212113 ]0]0]2 1 17 | dst
57 dst |b of2]l]0]2|4l0]0] 3 1 14 | ndst
58 dst |b 3(o]l2]2f2]l0]0]1 1 11 | ndst
59 dst |b of1]2]1f3[0]0]O0 1 11 | ndst
60 dst |b of2]14]5|6[]0]1]3 1 26 | dst+
61 dst |a 6|1 0| 3[214]1]0] 2|5 1 25 | dst+
62 dst |c 5111214133 2]3 1 24 | dst+
63 dst |c 213|241 5]13]0]|3 1 24 | dst+
64 dst |a 21311/ 113110 2 1 13 | ndst
65 dst |a ol]2]0f1]5]0]1f0O0 1 12 | ndst
66 R |c 3(1]0]22l0]0]O0 0 9 | ndst
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wyniki egzaminu pisemnego z algebry
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